G RELE

Chhattisgarh Board of Secondary
Education Model Paper 2021-22
aTee geud —1
fava — Hifae o= (201)

Subject — Physics

DElT — R4l .
|qHI — 3 90C T — 70
Class — 12"

Time — 3 hours M.M. - 70

e - (1) ¥ U9 AR © | @t 26 U & I ¢ |

Instructions : (1) All Questions are compulsory. Total 26 questions are to be attemped
(2) IO Ui wWuSi H g | WUS () , WvS (d@) , Wrs (9), WS () , WS (3)
(2) Question paper contains five Ssection , Section A,B, C, D & E
(3) SMATIHATTHR X@TIF IT AHIfbT = B AT DIfSTg —

(3) Draw neat ray diagram or labeled diagram as required

Eug (31) Section A

Fcer : 59 @ve H gl U™ U & YD U WR Udh —Udh 3fh & & 7
Instruction : This Section contain 5 questions ,each caring 1 mark.

ge : (1) faga aiikar &1 S.1. A= wd faH g3 forfeag |

Q. (1) Write down the S.I. unit & dimensional formula of electric capacity.

g . (2) ycaTadt faar 9 @1 A9 E=314 sin 314t § A 9! 3MIRT B A IA1-Y |

Q. (2) The e.m.f. value of an a.c. is E=314 sin 314t write down the value of its frequency.

geq : (3) TBeNl AN AHTS fhd BEd © |

Q. (3) What is threshold wave length ?

ged © (4) U ofd DI BIHT X 10 WAL T | IHb GHE 5 WAL B W W 9K @
TR g4 dTel ufafem @ i e emeR fafey —

Q. (4) The focal length of a lense is 10 cm . An object is placed in front of the lence at a distance
5 cm. Write down the nature and size of the image formed.

ged : (5) Rforpe @ gamasd H MG &I SIUT & T8 A g9 dTel 3feiareld &l
e ferfgy ?

Q. (5) If silicon semiconductor is doped with Arsenic , then name the type of the semiconductor

formed
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BYJU'S .
@BYys gos () Section B

fder - 59 v ¥ gl UM U T YD U WR QI — QI AP AEfed 7 ?
Instruction : This Section contain 5 questions ,each caring 2 marks.

g : (6) faera faga o1 e Rerfa vd fFrefia Rerfa § @i 1 iR ferfag |

Q. (6) Write down two difference between endon and broad side position of an electric dipole

9eq : (7) U ATAd B URRE (470£10%)° & O 99 ATadd & IR W 99 97 dIs
& 37 ey ?

Q. (7) The resistance of a conductor in (470i10%)Q write the colors of the color code in it.

g © (8) I HAIGeYH T & ?

Q. (8) What is amplitude modulation ?

g3 (9) WION IR dd & 991 oId & ai ?

Q. (9) Connecting wire are made of copper why ?

9o : (10) U AegH RTAdT ydaia V3 21 39 WR AT ThTel fhd= ATaceh or
R IMufad & SR 9 f 98 gfad &1 9|

Q. (10) The refractive index of a medium is v/3. At what angle a unpolar light should
incident on it so that the light will become polarise

Tus (9) Section C

e - 39 9T ¥ g IRE U T UAD U R A9 3id Irefed § ?
Instruction : This Section contain 12 questions ,each caring 3 marks.
93 0 (11) 9o @I MRS Uk o gREYT forgax S@T faar 90 9 ddg wenfua
I |
Q. (11) Write the definition of internal resistance of cell and hence establish its relation
with emf of the cell.
ge - (12) Ui g@g Td o gEag uared H $ig O sfa forfRag |

Q. (12) Write down any three difference between paramagnetic and diamagnetic

substance.

g3 : (13) 220 V &I U@l ORT 3R A ORT #§ D9 e Gaxdr® & AR F&f ?
Q. (13) Which one of 220 V ac & 220V d.c. is more dangerous and why ?
ge - (14) 9 ¥ T O @ TR TR FEER 8 ? 89 a9 @ M Ud Ud
SUINT feTfgy —
(i) 1A° (i) 7500A° (iii) 4000A°
Q. (14) Wavelength of three waves are given below write the names and one application

of each wave ?
(i) 1A° (ii) 7500A° (iii) 4000A°
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BEEES w0 (15) e gfte Q1Y @1 ®1S Afdd ) gRe & fTU -1D &l &1 =9al SUANT R
e § S MY B W W e W 2D &HAT Bl AASHAT B B W
PR |

Q. (15) A preson having myopia uses lence of -1D power for at old age he needs a lence
of +2D power separately explain the reason.

e . (16) TS o0 & uared &1 adie V2 § iR smaddid BT 60° & O SHd
foTg 3Myas I (i) 9 <gAaH fIeet= HIT (Sm) ST DHITY |

Q. (16) Refractive index of the material of a prism is V2 if angle of refraction for a light
ray is 60° then calculate the angle of incidence and angle of minimum

deviation(om)

e : (17) o e fag@ 9a & forg ggel amafr 5.00 x 10 Hz § It S99 W
6 x 10" Hz &T UepTer Smufoe & ar —
(1) ST &7 IS BN B 8T
(2) SMUfcrd UbTer @1 radT g dr a7 B |
(3) mufad waTer @ Mgy 7 x 10 Hz &3 I a1 B8R |

Q. (17) Threshold frequency of a photo electric cell is 5.00 x 10'* HZ. If a light ray of 6
x 10'* Hz frequency is incised on it them

(1) whether electron will emit or not.
(2) what will happened? If intensity of incident light is increase
(3) what will happened If frequency of incident ray is increase to 7 x 10'* Hz ?

e © (18) U& AT ufdea e @1 Srfemyaral 60 f3F & o 180 fRe @1q Swan
el AT 9y |

Q. (18) Half life period of a radio active nuclei is 60 days after 180 days what amount of
this radio active nuclei will remain.

e 0 (19) AEAA , IR 3R UEd v B9 TSR @ UHIY & Ifaid M B 3R
IH goiaeie BT fbd wetm o fg el | SIEr 9nfav |

Q. (19) Lymen , Blamer and paschan sereis belong which part of the light and from
which orbital to which orbite electron should go in these series.

g3 (20) I ¥ T o # GG e @ UgAMER SEGT A Hafoid akuer &1
gfere =iota vd IHS! AIHE AR 1Y |

Eand

A &—

o0 O

Q. (20) Identify the gate given below and write down its name, boolean expression
and truth table of the gate.
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G RELE

g3 0 (21) SRS @ @13 <1 ST faRay Ud gifoRex &1 Wi &1 dRg SYART &I
Fifera faga gRuer a9—Y |

Q. (21) Write any two application of transistor and draw labelled circuit
diagram of its use as a switch.

ged : (22) 10KHz 3mgRy dom 10V RER dieedlt & |l R (WS RTra) &1
SUINT {3l 1 MHz 3rgRy d2m 20V RER dieedl o aied a)T & A1 b
T & Al ATgelT adbicd qT I~ Yred dUs 1d dbifoiy —

Q. (22) A message signal of 10 KHz. Fraquency and 10V peak voltage is modulated with
a carrier wave of 1 MHz frequency and 20V peak voltage calculate modulation

Index and side band.
Eug () Section D
e : 39 @oe ¥ o Uah U © R offaRe f[deed Aigg & ? 39 U9 W 4 3id
arefed g ?

Instruction : This Section contain only 1 question with internal option. This question

caring 4 marks.

g9 ;. (23) RieTh U dod TAT Uh TR PHUScll URD , Ueh ol Aldd RIETJHR Udh ac
S 9 Silg 3R Rag 3§98 ) QA1 771 3R o 9979 9garq U fdenedl oI
AR & B WNd HUSHl & A I IR Bl H8d @ |

(]

Y-\
</

SWRId Rt & MR W) 74 Ul & IR ST —

(1) B3 @ YA &R T9I ged I g7 fbd bR uRafdd eFfil R Afed
W DI |

(2) et faemdt # f5a fo7 et & AR T & 79 R R £ |

Q. (23) As shown in the figure a teacher makes an a.c. circuit with a simple
conductor coil with a key a switch and a bulb. Keeping the switch closed than
student was asked to insert an iron rod in the coil.

L oo
Ny
Answer the following question on the basis of the above situation
(1) How the intensity of the bulb changes when the rod is inserted. Also explain
the reason.

(2)  Which values of the students are binary tried by the teacher to enhance.
SAdT
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@RRs RIeTd FB BHEI B dH TAS ASS T | TATS ASS W GRET BRI A
Ud Afdd Bl U1 EGah & §RT 9 ¥ I[OIRT ST & | $B BEI & U™
grg A 1 axg AT off 9 BRUT 91 dgad 9 @i e ol | g9
Ry # /91 g1 & IR IR |

(1) o1g 9ga® & B A BT Rigia forRkau |

Q) fre Rendl ¥ b o7 el B ReRE B9 $1 TR @R W § |
A teacher had a trip to airport along with his student for security reason every
person while entering the airpot has to part through a metal detector. Some
students had some metallic substance with them which made sound when
passing through the metal detector.

Answer the following question on the basis of the above situation
(1) Write down the working principle of the metal detector.
(2) Which value of the students are binary tried by the teacher to enhance.

Eug (3) Section E

ST - 59 @vs # ol dF U & TS U H ARG f[adweu i T 2| S A
W 5 — 5 3F AEfed B ?

Instruction : This Section contain three question each question have internal option and
each question caring 5 marks.

ged : (24) UPH WA ARG Fd WA Al & HROT (Agd &F HI diadl 9
DITY? I TS e H dIgar I A d18% @l AR & A I8 o+ Bl A
A BN fob SROTHD |

Q. (24) Calculate the electric field intensity at a point due to uniformaly charged infinite
plane sheet. If the firection of the intensity is outward from the sheet. State
surface density will be positive or negative

31qdT / or
el faega faga & PR el Rafa # faga fawa @1 qomm @i afe fgya
Bl 90° 9§ g1 fean SR a1 fagd fawa &1 A9 foba=n srm ?
Calculate electric potential in axial position due to an electric dipole. If the dipole
is rotated by 90° what will be the new value of electric potential.

gedq : (25) IQ P Soldg™ AMS & IRl AR DI fGgd & W H URYHT IR &I

2 Al 9D BRUT I DRI [§gd BT Ml S1d diforg ?
Q(25) If one electron is revolves around a nucleus as a magnetic dipole. Calculate
the dipole moment of this magnetic dipole
3T
Bl aRIETEl gABR FHosell & 31 W R FAl fig R geag a3 o
AT BT IO BRI D AT SHDI AT URATT BT UTh YR HIFTY |

https-/byjus.com



https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

mELLE Calculate the magnetic field intensity at a point on the axis of a

current carrying circular coil also plot the graph between distance
and field intensity.

9o : (26) & S Al DI BIHE GRAT HA: 5 AHAT IR 15 HH. & | G g
g 7] o Ifigeas ud 59 @ & w9 d v | I gAax e
R & TR W 9 BT W g B YAdH 0 R ufafew i &
RO QN TR IHD AT & B AT [eTRay |

Q. (26) Two convex lenses L; and L, focal length 5 cm and 15cm respectively out of

these two lense which lense will you choose as objective lense & which lense as
eye piece lense to make an astromical telescope. Draw clear ray diagram of this
astronomical telescope when the final image is formed at least distance of distinct
vision write down the expression for its magnefying power.
I

IR WA THN & TGO Y, = a; , sin wt , Y, = a, sin2wt Y3 = azsin3 wt , Y, =
a4 sindwt TAT 598 W fobd TR &  HeT AfKIDHIT 99 & BRI Gfed forfgy |
RIATHD ATABRUT BT T [TGDHR HeAlR & AT dlael YR &bl I Wiy |

The equations of four independent waves are as following Y, = a, , sin wt ,

Y, = a, sin2wt Y; = a; Y, = a, sin4wt these waves between which waves
interference is possible and why ?

Write down two conditions for constructive interference and plot graph
between phase difference and Intensity.

000
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@®BYYs gresl gegE — 11
favg — Aifd®d I3 (201)
Subject — Physics
FeTT — qIREd!
Class — 12"
|qHY — 3 g0 qurids — 70
Time — 3 hours M.M. - 70

e - (1) ¥ U9 ARt | et 26 U & I ¢ |

Instructions : (1) All Questions are compulsory. Total 26 questions are to be attemped
(2) weU= Ulg @uel # g | @Wrs (@) , @Wve (d) , @ve (W), @ve (]) , WS (¥)
(2) Question paper contains five 5 section , Section A,B, C, D & E
(3) SMITIBATTAR AHIfbe EIH Dl AT DTS —

(3) Draw neat ray diagram or labeled diagram as required

Eug (31) Section A

e : 59 Wvs # qf UiF U © YD U R Y —Tdh 3 IEfed ¢ |
Instruction : This Section contain 5 questions ,each caring 1 marks.

ged (1) fovg ygurar @ g ?

Q. (1) What is potential gradient ?

ged : (2) e g1 =1 sinwt & T SHBT a3 A HA T BEIT 2

Q. (2) If an a.c. current I = I, sinwt what will be it’s r.m.s. value ?

ged :  (3) STl ol (b PHad § ?

Q. (3) What is threshold energy ?

g3 (4) B & U HifdTd DIT &7 A 42° 2 T I W PIg UG 45° TR 3Ufed
BT & a1 S YBI § HiF AT "gedT 8 89 "eAT &1 A faRgy ?

Q. (4) The value of critical angle for the glass is 42° If light ray is incident on
angle of 45° on it, which incident will take place ?

geT - (5) YR SHIMTH & fheed H USgMEH @1 Jfuse Mo W g9d arel &l
3refarerdt & AW forfed |

Q. (5) Aluminum is dopped in to pure germanium crystal, write the name of

two semiconductors does obtained.
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BYJU'S .
@By s (4) Section B

Qe 39 @us § @l U™ U & YD U W &I — &l 3 IfEfed & ?

Instruction : This Section contain 5 questions ,each caring 2 marks.

e (6) UH MATHR ATAd forgal o AL 8 S0 10uC 3mae faar 1 @ o=
Ao Tl O W AT S DI |

Q. (6) The radius of a sphericalconductor is 10 cm If it is charged by 10uC charge find

out it intensity at a point 9 cm from its center.
g3 ¢ (7) UfoR iR faf¥re gfeRier # @18 31 &fax falRay ?
Q. (7) Write down any two differences between resistance and specific resistance

ged © (8) 1 R W IS UfCRIEm &1 B3R C & A= yRomdl Uik S Iy |

Q. (8) Calculate the resultant resistance between point B and C from the

following circuit

g © (9) AIgHH Bl AMATID I BNl B ? IHD & BRUT IRy |
Q. (9) Why modulation is needed ? Write its two reason.

g3 : (10) UHIT &7 fdaqs a1 & ? faadq o od falRau |

Q. (10) What is diffraction of light ? Write down its conditions.

https-/byjus.com
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Tgvs (9) Section C

e 39 @Ue H q{f 12 U € YIS U R -4 3 Ifefed & ?
Instruction : This Section contain 12 questions ,each caring 3 marks.

g (1) frEis @ fgda fom o forgax S99 I w9 &l aRuer 99rax
qHeSY ?

Q. (11) Write down the second law of Kirchoffes it with the help of proper
circuit diagram.

e (12) U L awiE iR M geEa Sregel arel gt IR Bl SEfgdaeR w9 H
AT AT | 39 URakia Mafd &1 gH®H STge! S1d HIFT |

Q. (12) A magnetic wire of length L and magnetic moment is bend to for
semicircle find the magnetic moment the reshaped shape of the

magnetic wire

g9 © (13) I@URYT U4 3T URVT H Pig o 3fax ferlRgg ?
Q. (13) Write any three difference between self inductions and mutal

inductions.

g% (14) A gl R ATgAUSS FEl BIAT Al Yedl & eRIAe UR A dAYHM acH
ATIA | AH BT AT HH (Y1 e BT I Afed feTlay |

Q. (14) If there were no atmosphere on earth then will the average temperature
of the earth surface be more or less then at present temperature of

earth, answer with proper reason.
e : (15) I & fERer vam & fibel dieE &1 99 ag 4 3mm 7 | I TRt &l
gl fhar SR, radT uadHid 4 /3 & A sl dleTs & |19 a1 897 2
Q. (15) Frindge width of youngdoble slit experiment in air is 3mm. If this
experiment is per formed into water of respective index 4/3 then what
will be new value of frindge width
geq : (16) 3MUBT fafdy dIvi & Bisa dra IR fUcde & & fUsq ¥ ™ g U &1
BIE AT HASH GIT S
(1) TIa UBIRT & ool YT Bl {947 a1 faeraor & faged &R < |
(2) T TSI & HHoh G Bl A7 31fdres fa=rer & fgmor o |

Q. (16) you are given prism of crown and flint glass of different angle suggest
the types of combination of these prisms which -

(1) Will deviate white light ray without dispersion
(2) Will disperse white light ray without deviation

https-/byjus.com
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¥ (17) T o1 & forg gl RO w18 3000°A T SH W 2000°A BT U
raferd febar Tar —
(1) g™ HI ST B8R DI Aol ?
(2) 2000°A & IMUFIT TapTer B AadT AT B TR &RAT BT 2
Q. (17) The threshold wave lenth of a metallic surface is 3000°A if a light of 2000°A in
incident on it -

(1) Whether the electron emission will occure or not ?
(2) If the intensity of this incident ray of wave length 2000°A is doubled.

U © (18) BISgIoM URAIY] &I FrTaH sfaverm § Haii 13.6eV T 39 S H daforg
TAT 5T AT H sorder & Rfast Hoil g Tfast Holl sitd. Bifory ?

Q. (18) Energy of hydrogen form it ground is 13.6 V. Change it into joule

and in that state calculate the potential and kinetic energy of electron.
g3 : (19) TN fagrsd IR TSI Fadw | dis A 3fax feRay ?
Q. (19) Write any three difference between neuclear fission and nuclear fusion
g3 (20) WIS SoiA faam # NPN giORex &I aRT &M S $ifoig | STdfd
SIS AR e  aRT o™ 095 & ?

Q. (20) Find the current gain of an NPN transistor in common emitter mode if

the current gain of the pone transistor in commen base mode is 0.95

ged (1) 0 g W I # Gate @ UgAEa] GAIGd URUY &I A RO
a7 gl g ferlRady ?

A O— Y

Q. (21) Identify the gate give below and also write the truth table & Boolean
expression for it.

A O—— Y

9% (22) TP dEDh IR BT FHIGNO C(t) = Ac sinwct AT Argeld RETA &1
FHIBROT m(t) = A, sinw,t & A ATgfeld TR H B b F A4 RN B
AT HAIGE BT 2

Q. (22) The equation of a carrier wave is C(t) = Ac sinwct and of a modulating signal in

m(t) = A, sinw,,t then write that which three frequencies will be present in the
modulated wave.
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@BYus us () Section D

e : 39 @ve ¥ dad U ued § R orfaRe ey Aigg € ? 39 U9 W 4 3%
amafed g ?
Instruction : This Section contain only 1 question with internal option. This question
caring 4 marks.
g9 © (23) BHAT U ReR ARG & USd &l A 2 I UIISd &l Fae 100 BRI
arell T 0.10 HI* &%l dTell U fUsall ¥ &R ofdl & a7 $9 §{osall dl 0.01
CHAT dTel Uh A FrIdbId &3 4
(1) GHosel & gl FeT & T ad 2 |
(2) GHUseN & HUA FeT B FATR T T |
e el Rafa # by Refd # IW grT ura 8Rfl, IfS 98 Husel!l &l A
JIh] UfT HHvE YA ¢ |
(3) TUH HHAT | DI W A & [AH B @ 7 ?
Q. (23) Kamla is padelity a static cycle and the padel is connected with a coil of 100

turns and 0.10m” cross reaction area. If this coil is kept in a magnetic filled
0.01 tesla which is

(1)  Perpendicular to the rotational axis of coil.

(2)  Parrallel to the rotational axis out of them two porition in which position
current will part through the coil if it is rotated half cycle per second

(3)  Which value is developing in Kamla.

Yl / OR

SE & Wd H U Ied AT BT faR Gl fHar 97 21 98 SW geM & fory
®g Iod SMUBINII A AME B gdT & Rilfdh Rl Ig SlaR Iqd Wd D
e R @1 =R o | 99 9@ 991 989 A fagd Myt 2g S "Ed
ST g | I g8 SH | B D [l HEHT 8 AT | SWRIad ReAfd bl qgehx
=T U=Al &1 IR <Y —
(1) ¥ Sl S=a ufdd & RIFART # R Agayef 2|
(2) S= vd IH®! 984 §RT SR T Al &l faalay |
A high power tower is erected in Dabbu’s field. Several times he requested
the higher official to remove the tower which occupied a large area of this
field , Then his elder sister told him about the perplexes of the tower in
electric supply then he agreed do not remove the tower from his field
Answer the following question from the above situation

(1) Why this tower important for high power transmission ?
(2) What values are shown by Dabbu’s and his sister.

https-/byjus.com
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[@BYus @ug (3) Section E

fer : 39 @ # q{of 3 U B IS U H aRE Aded i T 2| IS U W
5 — 5 3@ adfed 7 ?

Instruction : This Section contain three question each question have internal option and

each question caring 5 marks.

e (24) UH MATHR FRT & il & B55ard e a 3k b 1 afd a> b a1 84
el A MATdH: FURT g91dhx SFd! TTRal &I doid Fdiferd | I aHl wiel
& §rg K IRAedie &1 IRaedie ARgH W B |

Q. (24) The radius of plates of spherical capacitor are a and b respectively if a > b so find

the expression of capacity of this spherical capacitor with a medium of dielectric

constant is K lie between the plate.

3qd1/ OR
MG THI Bl folgdhr IHD! WA H HAH & JhA i [F-9F BT LTI

DI |

Write down Gauses theorem and establich coulombs inverse square law by using

this theorem
g% : (25) &I Udel o foIa] Wik gRAT HA ), iR f, € S99 6gad o @l
BIHd G S BIfGY T 39 IRRefAl &1 Moo Sraw wgad o |
A oI F B TRE B BN |
Q(25) Focal length of two thin lenses are f; and f, find out the focal length of the

combined lense formed by them and also write its conditions for which this

combined lense will behave as a convex lense

3171 / OR
HYFd GeAae & AMgeId UG AT B Bled gRAT HA: f, 3R f, 3| I8 T

sifcd gfdfam T gfte & =gAad g WR g9 BT [BRU RG Higax IHS)
JATIET &HAT BT ASTD S DI |

focal length of objective and eye piece of a compound microscope
are fo and fe respectively draw ray diagram for this microscope
when the final image is formed at least distance of clear vision

calculate the expression for magnifying power.
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23 : (26) TP YRTATE arcdd forad 1 (TrRIRR) &) 9R7T 98 381 § S99 d 9 R Refy
frell fag p W g &3 & daar & gRemr g fen = e & g1d
PRI © | I IR 9 3% = A BIRE |

Q. (26) I Ampere current is flowing through a conductor. Write down name of the law

using which magnetic field of intensity and direction of magnetic field developed

at any point P at a distance d from two conductor and find the intensity too.

31eTar / OR
UEh TU€ gREG TdHT ga Uded m JIE s [ 2 | O TE 99 gHEaa aF

B #H &M WR & ael g1 g Bl M0l Td I gAM H B T BRI B IO
P |

A bar magnet of effective length 1 and pole strength m is brought in to a

uniform magnetic field of intensity B calculate the torque and work done in

rotating this magnet.

000
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